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Wiist, Albert — Appel, Svend
Bilar, Pedro— Kleinschmidt, Michael

Smith, Craig — Nadrai, Marie-Antoinette

Wehrli-Wyss, Cristine — Wiilti, Vreni
Rubeli, Gabriela — Fischer, Verena
Briner, Maya — Filali, Renata

Steger, Johanna — Wohlgemuth, Gisela
Wiist, Annamarie — Hedinger, Teresa
Wespi, Marlise — Gisler, Meggi

Kuhn, Monica — Tschopp, Denise
Vital, Theres — Schilt, Carla
Wigdorovits, Jutta — Hess, Rita
Winter, Vreni — Paulon, Marianne
Biitler, Doris — Schonenberger, Nada
Schiir, Rita — Heuri, Silvia

Furrer, Ursula — van Exel, Wendela
Beylemans, Rita— Beylemans, Francis
Walter, Marlise — Zingg, Erika
Bretscher, Hedi — Egli-Kessler, Ursula
Roth, Rita — Gridel, Heidy

Hirt, Sybilla — Janson, Inger

Turnierleitung: Marlise
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